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Includiiig Water. KxeludiD« Water.

(R,0 + CuO) : (Mk, Mn, Ke)(). (R.,0 + CaO) : (Mfir, Mo, Fe)0.

Jan Mayen 3 : 387 3 : 4-17

Bohemia 3 : 4-10 3 : 4-10

Stcn/A'lberg 3 ; 4-02 3 : 438
Diuiganiion 3 ; 3-84 3 : 411

Scluirizer adopts the fore<;oiTig ratios (3 : 1 I -5 and 8 ', 4) as

those of syntagmatite in calcnhitin<i; the comno.Hition of horn-
I II Ml

blendes intermediate between (Fiji), li,Si/),, and actinolite.

lie assumes in tlie first place that all the alumina and ferric

oxide belonfi^ to the synta<?matite molccide (i). The sum of

the AI3O3 and Fe./), molecules (from the molecular ratio) mul-

tipled I)y three, ^ives (Si(),)i; on the one hand and (lv,j()+
RO)s on the other. The sum of (K,0+ liO)i; divided in the

proportion of 3:4 gives (R,0 + Ca())i" and :^^<r04-FeO)i;.

Subtractinfjj (MgO+ FeC))i; from the sum of the correspundin

ra6leculcs deduced from the analysis gives (MgO-fFe())A—that

18 the number of molecules of magnesia and ferrous oxide

belonging to tho actinolite molecule (A)—and (Mg()4-FeO)A
divided by three (see actinolite foi-mula) gives the lime mole-

cules of the actinolite (CaO).v. This value subtracted from

the total nund)er of lime molecules gives ((^aO)i;, and (CaO)s
subtracted from (ri,0+ CaO)i; gives the alkali molecules (in

some cases inc' iding II^O). Finally (MgO-f-CaO)^ gives

(Si03}A. These statements will be made clearer by the follow-

ing example, one of those selected by Scharizer.

Hornblende from Edentille, analyzkd by Ramjielkuero.


